

$$\begin{aligned} (1) \quad \lim_{x \rightarrow 0} \frac{1 + \sin x - \cos x}{1 - \sin x - \cos x} &= \lim_{x \rightarrow 0} \frac{1 + \sin x - \cos x}{1 - (\sin x + \cos x)} \cdot \frac{1 + \sin x + \cos x}{1 + \sin x + \cos x} \\ &= \lim_{x \rightarrow 0} \frac{(1 + \sin x)^2 - (\cos x)^2}{1 - (\sin x + \cos x)^2} \\ &= \lim_{x \rightarrow 0} \frac{1 + 2\sin x + \sin^2 x - \cos^2 x}{1 - \sin^2 x - 2\sin x \cos x - \cos^2 x} \\ &= \lim_{x \rightarrow 0} \frac{2\sin x + 2\sin^2 x}{-2\sin x \cos x} \\ &= \lim_{x \rightarrow 0} \frac{1 + \sin x}{-\cos x} = \underline{\underline{-1}} \end{aligned}$$

$$\begin{aligned}
 (2) \quad \lim_{x \rightarrow 1} (1 + \sin(\pi x))^{\cot(\pi x)} &= \lim_{x \rightarrow 1} e^{\cot(\pi x) \log(1 + \sin(\pi x))} \\
 &= \lim_{x \rightarrow 1} e^{\cos(\pi x) \cdot \frac{\log(1 + \sin(\pi x))}{\sin(\pi x)}} \\
 &= e^{(-1) \cdot 1} = \frac{1}{e}
 \end{aligned}$$

Protože  $\bullet \lim_{x \rightarrow 1} \frac{\log(1 + \sin(\pi x))}{\sin(\pi x)} = 1$  podle VLSF

$$f(x) = \sin(\pi x) \quad g(x) = \frac{\log(1+x)}{x} \quad g \circ f(x) = \frac{\log(1 + \sin(\pi x))}{\sin(\pi x)}$$

$$\begin{array}{ccc}
 \lim_{x \rightarrow 1} f(x) = 0 & \lim_{x \rightarrow 0} g(x) = 1 & x \in P(1, 1) \Rightarrow f(x) \neq 0 \\
 \uparrow A & \uparrow B \quad \uparrow C & \uparrow A \quad \Downarrow (P) \quad \uparrow B
 \end{array}$$

A dále  $\bullet \cos(\pi x)$  je spojité v 1,  $\cos(\pi) = -1$

$\bullet e^x$  je spojité v -1